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17. Each of 60 pupils is given a task and the time taken to complete the task is recorded. The results

S ; 10. Customers collect reward points for shopping at 4 local supermarket.
are summarised in the cumulative frequency polygon below.

The following table shows a grouped frequency distribution of the number of points collected
by 60 different customers.

Cumulative
frequency
& Number of points collected 1-20 21-40 41 - 60 61 -80
| i | | Number of customers 4 12 34 10
t | ,. B | I | _
T 1\ = ool mn = I e G o i o et s 9Bt i vt . S, e 1 7 i 1 e (e faj Complete the following cumulative frequency table.
; | i |
_. Number of points collected <20 <40 <60 <80
| | ' i |
1 i !
404 — e S . 1] I O [ 51— A S § S — Cumulative frequency 4 —& 50 6O
| ,‘ !
1 = . - - _ i 5o 5 bl e e = - ! H_H
30 1 “ . L m I A czug]
{ I '
] S | R | s
! | ; | i :
B o e B i & ey & s i +- e i
{ 1 |
104 - — - - — =L 35l NN - SET T, S SR i —
_ |
0 Time taken
0 5 10 15 20 25 30 35 4 Arinules)
Use the cumulative frequency polygon to answer the following questions.
(a)  Find an estimate for the interquartile range.
. .
[2]

(b) Giving full details, find an estimate for the number of pupils that take between 20 and 30
minutes to complete the task.
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{d}  Use your cumulative frequency diagram to find
(i) the median,

24 |

i) the interquartile range.

Page 7

9.

The heights of 80 men were measured in centimetres,
The table below shows a_grouped frequency distribution of the results.

Height, em

150 <k < 160

160 <h < 170

170<h < 180

180 </ < 190

190 </ < 200

Frequency

[

24

36

ta)  Onthe graph paper below, draw a frequency polygon to show this data.

Frequency

40

204

(2]
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(hj

Calculate an cstimate [or the number of people in the group whose heights are at least

esults of the survey.

let42 24+l =86 T.o%\ "y

O)\P 62 eon o @lle - 4]

g.
X

13. A survey was carried out to record the speeds of cars entering a village. The histogram illustrates
162cm. the r

Bl e
24—~ 11T
30
QORI]-S ~| _
w.rw =0 i = S S, e
30
Q v
0 10 20
(a)

30

Use the histogram to complete the grouped frequency table below.

Speed, s

m.p.h. Ll

20<s <

30 | 30<s <40 | 40<s <50 | 50<s <

60

Frequency w O

30

O |35 | 5

[2]
(6) Calculate an estimate of the number of cars with speeds exceeding 32 m.p.h.
Axt=32
T B
.......................... 12 Coms.
[3]
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Sasha works for a garden centre.

In any given week the probability that she works outdoors is 0:7.
The probability that she works during a weekend is 0-2.
Working outdoors and working weekends are independent events.

(a) Complete the following tree diagram.

Works
Works during a
outdoors weekend
Yes
02
Yes
0-7
No

2
(b)  Calculate the probability that next weekend Sasha will work outdoors.
= 077X Q-2
SO |
2

Page 15

11. Katlyp throws_two (air dice, one coloured red and the other coloured black.

She makes a note of the score on each dice.

{a) Calculate the probability that Katlyn gets a double five,

2
(h) (i) Complete the following probability tree diagram to show the probabilities of
events.
Red dice Black dice
Score is 4

Scoreisa
multiple of 3

Score is not 4

Score is 4

Score is not a
multiple of 3

Score is not 4

B
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12, A box contains 20 marbles, of which 2 are red, 3 are vellow and 15 are black. 1.
Two marbles are selected at randem, without replacement, from the box.
‘What is the probability that exactly one of the marbles is black?

e e

2R IJIY 188 . .. e ) . Number of visitors 90 140 10 60 100 180

Total donation, £ 360 650 40 150 410 700

The number of visitors to a historical site and the total donation given were recorded each
weekend for 6 weeks. The table below shows the results.

{a; On the graph paper provided draw a scatter diagram of these results.

(2

Total donation, £

7 N PP SRR W —

600 —— bt s

Py e S O ORI R G A R L

2004 ——— e -
\ﬁ\

- » Number of visitors
0 50 100 150 200

(b Describe the correlation between the number of visitors and the total donation.

{e)  Draw, by eye, a line of best fit on your scatter diagram.

(1]

(d) Use your line of best [it to find an estimate for the number of visitors to the historical
site on a weckend when the total donation was £500.

RS \edo

Nl R A PR B AV o o i ,
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(b)

T O

Draw, by eye, a line of best fit on the scatter diagram.
(1

Estimate the weight of a person of height 155¢em.

Is it possible to estimate the weight of a person with a height of 210cm from the scatter
diagram? You must give a reason for your answer.

Page 23



